#### • ARTICLES •

November 2012 Vol. 55 No. 11: 2259–2271 doi: 10.1007/s11425-012-4522-8

# Small value probabilities for continuous state branching processes with immigration

CHU WeiJuan<sup>1</sup>, LI WenBo V<sup>2</sup> & REN YanXia<sup>3,\*</sup>

<sup>1</sup>Department of Mathematics, Nanjing University, Nanjing 210093, China; <sup>2</sup>Department of Mathematical Sciences, University of Delaware, Newark, DE 19716, USA; <sup>3</sup>LMAM, Center for Statistical Science, School of Mathematical Sciences, Peking University, Beijing 100871, China

 $Email:\ chuwj@nju.edu.cn,\ wli@math.udel.edu,\ yxren@math.pku.edu.cn$ 

Received December 30, 2011; accepted August 1, 2012

**Abstract** We consider the small value probability of supercritical continuous state branching processes with immigration. From Pinsky (1972) it is known that under regularity condition on the branching mechanism and immigration mechanism, the normalized population size converges to a non-degenerate finite and positive limit W as t tends to infinity. We provide sharp estimate on asymptotic behavior of  $\mathbb{P}(W \leq \varepsilon)$  as  $\varepsilon \to 0^+$  by studying the Laplace transform of W. Without immigration, we also give a simpler proof for the small value probability in the non-subordinator case via the prolific backbone decomposition.

Keywords continuous state branching process, small value probability, immigration

MSC(2010) 60J80, 60F15

Citation: Chu W J, Li W B V, Ren Y X. Small value probabilities for continuous state branching processes with immigration. Sci China Math, 2012, 55(11): 2259–2271, doi: 10.1007/s11425-012-4522-8

#### 1 Introduction

Let  $(\mathcal{Z}, \mathbb{P}_x) = (\mathcal{Z}_t, \mathbb{P}_x : t \ge 0)$  be a continuous state branching process with immigration, starting from  $x \ge 0$ , with branching mechanism  $\psi$  and immigration mechanism  $\varphi$  (see [18, p. 287] for definition). The Laplace transform of  $\mathcal{Z}$  is given by

$$\mathbb{E}_x e^{-\lambda \mathcal{Z}_t} = \exp\left(-xu_t(\lambda) - \int_0^t \varphi(u_s(\lambda)) ds\right), \quad t \geqslant 0, \quad \lambda > 0, \quad x \geqslant 0,$$
 (1.1)

where the function  $u_t(\lambda)$  satisfies

$$u_0(\lambda) = \lambda, \quad \frac{\partial}{\partial t} u_t(\lambda) + \psi(u_t(\lambda)) = 0.$$
 (1.2)

Here

$$\psi(\lambda) = \alpha_0 \lambda + \alpha \lambda^2 + \int_0^\infty (e^{-\lambda x} - 1 + \lambda x \mathbb{I}_{\{x < 1\}}) \Pi(\mathrm{d}x), \tag{1.3}$$

<sup>\*</sup>Corresponding author

and

$$\varphi(\lambda) = \int_0^\infty (1 - e^{-\lambda x}) \Lambda(dx) + b\lambda,$$

with  $\alpha_0 \in \mathbb{R}$ ,  $\alpha \geqslant 0$ ,  $b \geqslant 0$ ,  $\Pi$  and  $\Lambda$  being nonnegative measures on  $(0, \infty)$  such that

$$\int_0^\infty (1 \wedge x^2) \Pi(\mathrm{d}x) < \infty, \quad \int_0^\infty (1 \wedge x) \Lambda(\mathrm{d}x) < \infty. \tag{1.4}$$

Usually the process  $\mathcal{Z} = (\mathcal{Z}_t, t \geq 0)$  is called a CBI $(\psi, \varphi)$ . In particular, if  $\varphi = 0$ , CBI $(\psi, 0)$  is a continuous state branching process (without immigration), which is denoted by  $Z = (Z_t, t \geq 0)$  in the present paper and is called CB $(\psi)$  (see [18, p. 271] for detailed definition).

Furthermore, for the processes without immigration, under stronger condition

$$\int_0^\infty (x \wedge x^2) \Pi(\mathrm{d}x) < \infty \tag{1.5}$$

than (1.4) for the measure  $\Pi$ , one has  $\mathbb{E}_x Z_t < \infty$  and can write  $\psi$  in (1.3) in the form

$$\psi(\lambda) = -m\lambda + \alpha\lambda^2 + \int_0^\infty (e^{-\lambda x} - 1 + \lambda x)\Pi(dx)$$
 (1.6)

with the growth parameter  $m = -\psi'(0^+)$ , i.e.,  $\mathbb{E}_x Z_t = e^{mt}$ . We assume m > 0 in this paper, which corresponds to the supercritical case.

For the process  $CB(\psi)$ , according to [14, p. 676], the martingale

$$W_t := e^{-mt} Z_t \to W \quad \text{as } t \to \infty, \ \mathbb{P}_x\text{-a.s. \& } L^1$$
 (1.7)

for some finite and non-degenerate random variable W, if and only if

$$\int_0^\infty x^2 \wedge (|x \log x|) \Pi(\mathrm{d}x) < \infty. \tag{1.8}$$

For the process with immigration, from [19],

$$e^{-mt}\mathcal{Z}_t \to \mathcal{W} \quad \text{as } t \to \infty, \ \mathbb{P}_x\text{-a.s.}$$
 (1.9)

for some non-degenerate and finite random variable  $\mathcal{W}$ , if and only if

$$\int_0^\infty (x^2 \wedge |x \log x|) \Pi(\mathrm{d}x) < \infty, \quad \int_0^\infty (x \wedge |\log x|) \Lambda(\mathrm{d}x) < \infty. \tag{1.10}$$

In order to study the small value probability of W in this paper, we assume throughout the condition (1.10) which is equivalent to the existence of non-trivial limit W. The small value probability of W is studied in [3]. One main result is stated below (others are stated in Theorem 5.1):

**Theorem 1.1** (See [3]). Assume the branching mechanism  $\psi$  is not corresponding to the Laplace exponent of a subordinator and  $\int_{-\infty}^{\infty} 1/\psi(\lambda) d\lambda < \infty$ . Then

$$\mathbb{P}_1(W=0) = e^{-\gamma} \quad with \quad \gamma = \inf\{s > 0 : \psi(s) = 0\}.$$

Write  $\rho = \psi'(\gamma)/m > 0$ , then

$$\mathbb{P}_1(0 < W \leqslant \varepsilon) \sim C\varepsilon^{\rho} \quad as \ \varepsilon \to 0^+, \tag{1.11}$$

for some constant C > 0.

Here and throughout this paper we use  $f(x) \sim g(x)$  as  $x \to 0^+$  ( $\infty$ ) to represent  $f(x)/g(x) \to 1$  as  $x \to 0^+$  ( $\infty$ ), and C to represent constant which can be different in different lines.

The proof of Theorem 1.1 in [3] is based on the link between continuous state branching processes and Lévy processes via time change, see, e.g., Theorem 10.2 of [18]. The Laplace exponent  $\phi(\lambda) = -\log \mathbb{E}_1 e^{-\lambda W}$  has inverse function  $\Theta$ , which can be expressed through the branching mechanism  $\psi$ , as seen in Theorem 4.2 of [3]. Through the study of  $\Theta$ , the asymptotic behavior of W was obtained in [3]. In the next section, we give a simpler proof for Theorem 1.1 without the use of  $\Theta$ . Our approach is based on the prolific backbone introduced in [2].

The small value probability for branching related processes has been studied by many authors, starting from the pioneering work of Harris [15]. Especially for the Galton-Watson process, more and more refined estimates are obtained in [4, 7, 8, 10, 12, 13]. For continuous state branching processes, the constancy phenomena happens, see [16, 17] and [3]. For example, in the non-subordinator setting, the limit

$$\lim_{\varepsilon \to 0^+} \varepsilon^{-\rho} \mathbb{P}_1(0 < W \leqslant \varepsilon)$$

exists for some constant  $\rho > 0$ , which is not necessarily true in discrete time discrete state branching processes, see [9] and the related references therein.

The main goal of this paper is to study the small value probability of W in (1.9). The precise connections between Laplace transform and small value probability is standard, via Tauberian type theorems, see Lemma 2.3. One can express the Laplace transform of W in terms of W and the immigration mechanism. Then the small value probability of W is obtained by using the corresponding asymptotic properties of W studied in [3], as stated in Theorems 1.1 and 5.1. Roughly speaking, there are two distinct behaviors. The first is the polynomial decay rate analogous to Theorem 1.1 in the non-subordinator case. The other behavior is the exponential decay rate analogous to Theorem 5.1 in the subordinator case, which is also studied in [3]. Both are stated in Section 2, and their proofs are given in Sections 4 and 5, respectively. In Section 3, we provide a simpler proof of Theorem 1.1 based on the prolific backbone.

### 2 Statements of results

Let W be the non-degenerate and finite limit of  $e^{-mt}\mathcal{Z}_t$  under the necessary and sufficient condition (1.10), where the growth parameter m is defined in (1.6). We first consider the polynomial decay rate.

**Theorem 2.1.** Assuming as in Theorem 1.1, the branching mechanism  $\psi$  is not corresponding to the Laplace exponent of a subordinator and  $\int_{-\infty}^{\infty} 1/\psi(\lambda) d\lambda < \infty$ . Then

$$\mathbb{E}_x e^{-\lambda W} \sim C e^{-\gamma x} \lambda^{-\tau} \quad as \ \lambda \to \infty, \tag{2.1}$$

where  $\tau = \varphi(\gamma)/m$  and  $C = \exp(-(bC' + C'')/m)$  with constants C' and C'' defined in (4.16) and (4.26), respectively. Equivalently, we obtain the small value probability of W,

$$\mathbb{P}_x(\mathcal{W} \leqslant \varepsilon) \sim \frac{C e^{-\gamma x}}{\Gamma(1+\tau)} \varepsilon^{\tau} \quad as \ \varepsilon \to 0^+.$$
 (2.2)

Note that the equivalence of (2.1) and (2.2) follows from Lemma 2.3(i) below.

Next, we consider the exponential decay rate analogous to Theorem 5.1 studied in [3] in the subordinator case. In order to get the precise behavior of small value probability of W, we only consider the immigration mechanisms that have the following special form,

$$\varphi(s) = bs + s^{\beta}, \quad 0 < \beta < 1. \tag{2.3}$$

Also note that in this setting,  $\psi$  is corresponding to a subordinator, that is, one has  $\alpha = 0$  and  $\int_0^\infty x \Pi(\mathrm{d}x) < \infty$  in (1.6). Therefore we can rewrite  $\psi$  as

$$\psi(\lambda) = a\lambda + \int_0^\infty (e^{-\lambda x} - 1)\Pi(dx), \tag{2.4}$$

where  $a = \int_0^\infty x \Pi(\mathrm{d}x) - m$  is the drift of subordinator. Our result in this setting is the following estimates.

**Theorem 2.2.** Let immigration mechanism be given in (2.3). Assuming as in Theorem 5.1, the branching mechanism  $\psi$  is corresponding to the Laplace exponent of a subordinator.

(i) If  $\psi$  has zero drift and finite Lévy measure  $\Pi(0,\infty) = \alpha m$ , then as  $\varepsilon \to 0^+$ ,

$$-\log \mathbb{P}_x(\mathcal{W} \leqslant \varepsilon) \sim (2m)^{-1}b\alpha \cdot |\log \varepsilon|^2 + \alpha^{\beta} (m(\beta+1))^{-1} \mathbb{I}_{\{b=0\}} \cdot |\log \varepsilon|^{\beta+1}, \tag{2.5}$$

where  $\mathbb{I}$  denotes indicator function.

(ii) If  $\psi$  has zero drift and infinity Lévy measure, then as  $\varepsilon \to 0^+$ ,

$$-\log \mathbb{P}_x(\mathcal{W} \leqslant \varepsilon) \sim m^{-1}b \cdot R_1^*(1/\varepsilon) + \mathbb{I}_{\{b=0\}} \cdot (xL^*(1/\varepsilon) + m^{-1} \cdot R_2^*(1/\varepsilon)), \tag{2.6}$$

where  $L^*$  is defined in (5.3), and  $R_1^*$  and  $R_2^*$  are conjugate functions to  $R_1$  and  $R_2$  respectively, with  $R_1$  and  $R_2$  being slowly varying functions defined in (5.9).

(iii) If  $\psi$  has drift a > 0 and the initial value x > 0, then as  $\varepsilon \to 0^+$ ,

$$-\log \mathbb{P}_x(\mathcal{W} \leqslant \varepsilon) \sim (x + b/a)^{m/(m-a)} \cdot \varepsilon^{-a/(m-a)} L(1/\varepsilon), \qquad (2.7)$$

where L is the slowly varying function defined in Theorem 5.1(iii).

(iv) If  $\psi$  has drift a > 0 and the initial value x = 0, then as  $\varepsilon \to 0^+$ ,

$$-\log \mathbb{P}_{0}(\mathcal{W} \leqslant \varepsilon) \sim (b/a)^{m/(m-a)} \cdot \varepsilon^{-a/(m-a)} L(1/\varepsilon)$$

$$+ m^{-m/(m-a\beta)} (m - a\beta)(a\beta)^{-1} \mathbb{I}_{\{b=0\}} \cdot \varepsilon^{-a\beta/(m-a\beta)} L_{2}^{*}(\varepsilon^{-m/(m-a\beta)}), \qquad (2.8)$$

where L is the slowly varying function defined in Theorem 5.1(iii),  $L_2^*$  is the conjugate slowly varying function to  $L_2$  and  $L_2(\lambda) = L_1(\lambda)^{\beta(m-a)/(m-a\beta)}$ , where  $L_1$  is the slowly varying function defined in (5.11).

For more details about the above-mentioned slowly varying functions, see the remark after Theorem 5.1 in Section 5. Note also that all asymptotic expressions involved in slowly varying functions are the simplest possible but still somewhat implicit due to the use of conjugate functions.

As already indicated earlier, various Tauberian type theorems are very useful in this paper. And thus we collect them in the following lemma for the convenience of readers. The case (i) below is exactly Theorem 1.7.1 of [5], and the case (ii) is Theorem 4 and Corollary 1 of [6].

**Lemma 2.3.** Assume V is a positive random variable.

(i) (Karamata Tauberian Theorem) For constants C > 0 and  $\alpha > 0$  and a slowly varying function L,

$$\mathbb{E}e^{-\lambda V} \sim C\lambda^{-\alpha}L(\lambda)$$
 as  $\lambda \to \infty$ ,

if and only if

$$\mathbb{P}(V\leqslant t)\sim \frac{C}{\Gamma(1+\alpha)}t^{\alpha}L(1/t)\quad as\ t\to 0^+.$$

(ii) (de Bruijn's Tauberian Theorem) Assume  $0 \le \alpha < 1$  is a constant, L is a slowly varying function at infinity, and L\* is the conjugate slowly varying function to L defined in [6]. Then

$$\log \mathbb{E} e^{-\lambda V} \sim -\lambda^{\alpha}/L(\lambda)^{1-\alpha}$$
 as  $\lambda \to \infty$ ,

if and only if

$$\log \mathbb{P}(V \le t) \sim -(1 - \alpha) \alpha^{\alpha/(1 - \alpha)} t^{-\alpha/(1 - \alpha)} L^*(t^{-1/(1 - \alpha)}) \quad as \ t \to 0^+.$$

In particular, when  $\alpha = 0$ , then

$$\log \mathbb{E}e^{-\lambda V} \sim -1/L(\lambda)$$
 iff  $\log \mathbb{P}(V \leq t) \sim -L^*(t^{-1})$ .

Note that there are two useful results about the conjugate slowly varying function in our arguments in Section 5. Namely,

(i) For any constant C > 0,

$$(CL)^*(x) \sim C^{-1} \cdot L^*(x).$$
 (2.9)

(ii) For any integer k > 0 and constant  $\alpha$ ,

$$((\log_k x)^{\alpha})^* \sim (\log_k x)^{-\alpha}, \tag{2.10}$$

where  $\log_k$  is the k-th iterate of log. Both of them can be found in Proposition 1.5.14 and Appendix 5 of [5].

## 3 The prolific backbone approach

The main goal of this section is to provide a simpler proof of Theorem 1.1 based on the prolific backbone. The prolific backbone, according to [2] and further research in [11], is a decomposition of a continuous state branching process with initial mass a > 0 into three types of immigration along a continuous time Galton-Watson process. Denote the backbone as  $(P(t, a), t \ge 0)$ , and assume the branching mechanism in (1.3)

$$\alpha > 0$$
 or  $\int_{(0,\infty)} (1 \wedge x) \Pi(\mathrm{d}x) = \infty.$  (3.1)

Then the following property about the backbone holds as described in Theorem 5 of [2].

**Theorem 3.1** (See [2]). For every  $a \ge 0$ , the process  $P(\cdot, a)$  is an immortal branching process in continuous time, with initial distribution given by the Poisson law with parameter  $a\gamma$ . Its reproduction measure  $\mu$  is characterized in terms of the branching mechanism of Z by

$$\Phi(s) = \sum_{n=2}^{\infty} (s^n - s)\mu(n) = \gamma^{-1} \cdot \psi(\gamma(1-s)), \quad s \in [0, 1],$$

where  $\gamma = \inf\{s > 0 : \psi(s) = 0\}$  and  $\mu$  is given explicitly in [2].

Note that the prolific backbone decomposition for supercritical superprocesses is studied in [1]. The degenerate case of superprocesses without spatial motion gives the prolific backbone for the continuous state branching processes.

We start with a basic property of the continuous time discrete state branching processes.

**Lemma 3.2.** There exists a finite and positive random variable  $\widetilde{W}$ ,

$$e^{-mt}P(t,a) \to \widetilde{W} \quad as \ t \to \infty,$$
 (3.2)

with

$$\widetilde{W} = {}^{d} \gamma W, \tag{3.3}$$

where W is the martingale limit of the continuous state branching process Z defined in (1.7).

*Proof.* Since  $e^{-mt}P(t,a)$  is a positive martingale, (3.2) naturally holds for some finite and positive random  $\widetilde{W}$ . In order to prove (3.3), we only need to show

$$\mathbb{E} \exp(-\lambda e^{-mt} P(t, a)) \to \mathbb{E}_1 e^{-\lambda \gamma W}$$
.

From [2] it is known that

$$\mathbb{E} \exp(-\lambda e^{-mt} P(t, a)) = \mathbb{E}_a \exp(-(1 - \exp(-\lambda e^{-mt})) \gamma Z_t)$$

$$= \exp(-au_t((1 - \exp(-\lambda e^{-mt}))\gamma)). \tag{3.4}$$

Define the Laplace exponent of the martingale convergence limit W in (1.7) as

$$\phi(\lambda) = -\log \mathbb{E}_1 e^{-\lambda W}. \tag{3.5}$$

For the Laplace functional u defined in (1.1), one has

$$u_t(\lambda e^{-mt}) = -\log \mathbb{E}_1 \exp(-\lambda e^{-mt} Z_t) \to \phi(\lambda)$$
 as  $t \to \infty$ .

Together with  $\exp(-\lambda e^{-mt}) \sim 1 - \lambda e^{-mt}$  when t is large, one can obtain from (3.4),

$$\mathbb{E} \exp(-\lambda e^{-mt} P(t, a)) \to e^{-a\phi(\lambda \gamma)} = \mathbb{E}_a e^{-\lambda \gamma W},$$

which implies (3.3).

Proof of Theorem 1.1. From the connection between branching rate r and branching mechanism  $\Phi$  of a continuous time discrete state branching process, it is easy to check that for  $(P(t,a), t \ge 0)$  in Theorem 3.1 one has

$$r = -\Phi'(0) = \psi'(\gamma). \tag{3.6}$$

Note also from Theorem 3.1 that each individual of P(t, a) reproduces at least two offsprings at each splitting time. Thus the extinction of P(t, a) happens if and only if  $\{P(0, a) = 0\}$ . Then one can obtain

$$\mathbb{P}\left(\lim_{t\to\infty} P(t,a) = 0\right) = \mathbb{P}\left(P(0,a) = 0\right) = e^{-a\gamma},$$

since P(0,a) is Poisson distributed with parameter  $a\gamma$ . Note that conditioned on  $\{P(0,a)=k\}$  for any positive integer k,  $(P(t,a),t\geqslant 0)$  is a continuous time discrete state branching process initiated from k individuals, with branching mechanism  $\Phi$  defined in Theorem 3.1. Then

$$\mathbb{E}[e^{-\lambda P(t,a)}, P(t,a) > 0] = \mathbb{E}[e^{-\lambda P(t,a)}, P(0,a) > 0]$$

$$= \sum_{k=1}^{\infty} \frac{(a\gamma)^k}{k!} e^{-a\gamma} \mathbb{E}e^{-\lambda X(t,k)},$$
(3.7)

where  $(X(t,k),t \ge 0)$  is a copy of  $(P(t,a),t \ge 0)$  conditioned on  $\{P(0,a)=k\}$ . Define the generating function

$$F_t(s) = \mathbb{E}s^{X(t,1)}. (3.8)$$

Then continuing with (3.7) and using the branching property of  $(X(t,k), t \ge 0)$ , one has

$$\mathbb{E}[e^{-\lambda P(t,a)}, P(t,a) > 0] = e^{-a\gamma} \sum_{k=1}^{\infty} \frac{(a\gamma)^k}{k!} F_t(e^{-\lambda})^k$$
$$= e^{-a\gamma} (\exp(a\gamma F_t(e^{-\lambda})) - 1). \tag{3.9}$$

By the classic result of continuous time discrete state branching process,  $e^{-mt}X(t,1)$  is a positive martingale and has a positive and finite limit, denoted as  $\widehat{W}$ . Then one has

$$F_t(\exp(-\lambda e^{-mt})) = \mathbb{E} \exp(-\lambda e^{-mt}X(t,1)) \to \mathbb{E} e^{-\lambda \widehat{W}} := \widehat{\phi}(\lambda) \text{ as } t \to \infty.$$

From (3.13) and Lemma 2.3(i),  $\widehat{\phi}$  has the following asymptotic behavior,

$$\widehat{\phi}(\lambda) \sim C\lambda^{-\psi'(\gamma)/m} \quad \text{as } \lambda \to \infty,$$
 (3.10)

for some constant C > 0. Combining (3.9) and (3.10), one can obtain

$$\mathbb{E}[\exp(-\lambda e^{-mt}P(t,a)), P(t,a) > 0] \to e^{-a\gamma}(\exp(a\gamma\widehat{\phi}(\lambda)) - 1) \quad \text{as } t \to \infty$$

$$\sim e^{-a\gamma} a\gamma C \cdot \lambda^{-\psi'(\gamma)/m}$$
 as  $\lambda \to \infty$ .

Note  $\{\widetilde{W}=0\}=\{P(t,a)\to 0\}$  a.s. Therefore the martingale limit  $\widetilde{W}$  satisfies

$$\mathbb{E}[e^{-\lambda \widetilde{W}}, \widetilde{W} > 0] \sim C\lambda^{-\psi'(\gamma)/m}$$
 as  $\lambda \to \infty$ ,

for some constant C > 0. Then using Lemma 2.3(i) and the connection between W and  $\widetilde{W}$  in (3.3), the small value probability of W in (1.11) is obtained.

**Remark 3.3.** For the continuous time discrete state branching process  $(X(t,1), t \ge 0)$  with branching mechanism  $\Phi$  defined in Theorem 3.1, its embedded chain (X(n,1), n = 0, 1, ...) is a Galton-Watson process with generating function  $\widehat{f}(s) = \mathbb{E}s^{X(1,1)}$ , and also has the same martingale limit  $\widehat{W}$ . Assume  $(\widehat{p}_k, k \ge 0)$  is the distribution of X(1,1) and  $\widehat{m}$  is its mean. Then one has

$$\widehat{p}_0 = \mathbb{P}(X(1,1) = 0) = 0, 
\widehat{p}_1 = \mathbb{P}(X(\cdot,1) \text{ does not split during } (0,1)) = e^{-r} = e^{-\psi'(\gamma)}, 
\widehat{m} = \mathbb{E}X(1,1) = e^{\Phi'(1)} = e^{-\psi'(0^+)} = e^m.$$
(3.11)

Thus by classic result about the small value probability of Galton-Watson process we have

$$\mathbb{P}(\widehat{W} \leqslant \varepsilon) \simeq \varepsilon^{|\log \widehat{p}_1|/\log \widehat{m}} = \varepsilon^{\psi'(\gamma)/m}. \tag{3.12}$$

Since there is no oscillation for the continuous time branching process (see [4,16,17]), we obtain

$$\mathbb{P}(\widehat{W} \leqslant \varepsilon) \sim C\varepsilon^{\psi'(\gamma)/m} \quad \text{as } \varepsilon \to 0^+,$$
 (3.13)

for some constant C > 0. One may say more about the constant C mentioned above according to the argument of Theorem 5.2 of [3].

## 4 Small value probabilities of $\mathcal{W}$

In this section, we consider the small value probability of W, which is the limit of  $e^{-mt}\mathcal{Z}_t$ . Recalling that  $u_t(\cdot)$  in (1.2) is the Laplace functional of  $Z_t$ , and  $\phi$  in (3.5) is the Laplace exponent of W in (1.7) as the martingale limit of  $e^{-mt}Z_t$ , we have

$$\mathbb{E}_x \exp(-\lambda e^{-mt} Z_t) = \exp(-xu_t(\lambda e^{-mt})) \to \exp(-x\phi(\lambda)) \quad \text{as } t \to \infty.$$
 (4.1)

In order to get the expression of the Laplace transform of W, we start with the Laplace transform of  $e^{-mt}\mathcal{Z}_t$ . Using (1.1), one has

$$\mathbb{E}_{x} \exp\left(-\lambda e^{-mt} \mathcal{Z}_{t}\right) = \exp\left(-x u_{t}(\lambda e^{-mt}) - \int_{0}^{t} \varphi(u_{s}(\lambda e^{-mt})) ds\right) 
= \exp\left(-x u_{t}(\lambda e^{-mt}) - \int_{0}^{t} \varphi(u_{t-r}(\lambda e^{-m(t-r)} e^{-mr})) dr\right) 
= \exp\left(-x u_{t}(\lambda e^{-mt}) - \int_{0}^{\infty} \varphi(u_{t-r}(\lambda e^{-m(t-r)} e^{-mr})) \mathbb{I}_{\{r \leqslant t\}} dr\right), \tag{4.2}$$

where we used the variable substitution r = t - s. Recalling  $e^{-mt} \mathcal{Z}_t \to \mathcal{W}$  in (1.9) and letting t converge to infinity in (4.2), one can get

$$\mathbb{E}_x e^{-\lambda W} = \exp\left(-x\phi(\lambda) - \int_0^\infty \varphi(\phi(\lambda e^{-mr})) dr\right). \tag{4.3}$$

In fact, the convergence in (4.3) can be assured by the dominated convergence theorem. To be more precise, using Jensen's inequality and  $\mathbb{E}_1 Z_t = e^{mt}$  we have

$$u_t(\lambda) = -\log \mathbb{E}_1 e^{-\lambda Z_t} \leqslant \lambda e^{mt}.$$

Therefore, by the increasing property of  $\varphi$  we have

$$\varphi(u_{t-r}(\lambda e^{-mt})) \leqslant \varphi(\lambda e^{-mr}).$$

Using variable substitution  $s = \lambda e^{-mr}$ , we have for any  $\lambda > 0$ ,

$$\int_0^\infty \varphi(\lambda e^{-mr}) dr = \int_0^\lambda (ms)^{-1} \varphi(s) ds < \infty, \tag{4.4}$$

where the finiteness can be seen from (4.15) and (4.25). This ensures the dominated convergence theorem. For convenience in the following argument, we define

$$\varphi_1(\lambda) = \int_0^\infty (1 - e^{-\lambda x}) \Lambda(dx). \tag{4.5}$$

Then (4.3) can be rewritten as

$$\mathbb{E}_x e^{-\lambda \mathcal{W}} = \exp\left(-x\phi(\lambda) - \int_0^\lambda (mt)^{-1} \cdot (\varphi_1(\phi(t)) + b\phi(t)) dt\right). \tag{4.6}$$

We start with the asymptotic behavior of the Laplace exponent  $\phi$  defined in (3.5). Using Lemma 2.3(i) and the small value probability of W in (1.11), we get for some constant C > 0,

$$\mathbb{E}_1 e^{-tW} \mathbb{I}_{\{W>0\}} \sim Ct^{-\rho} \quad \text{as } t \to \infty.$$

Furthermore, using  $\mathbb{E}_1 e^{-tW} = e^{-\gamma} + \mathbb{E}_1 e^{-tW} \mathbb{I}_{\{W>0\}}$ , one can get

$$\phi(t) = -\log \mathbb{E}_1 e^{-tW} = \gamma - \log(1 + e^{\gamma} \mathbb{E}_1 e^{-tW} \mathbb{I}_{\{W > 0\}}).$$

Thus it is easy to check that

$$0 \leqslant \gamma - \phi(t) \sim e^{\gamma} \mathbb{E}_1 e^{-tW} \mathbb{I}_{\{W > 0\}} \sim C t^{-\rho} \quad \text{as } t \to \infty, \tag{4.7}$$

and  $0 < \phi(1) < \gamma$ , which is used in the following.

**Lemma 4.1.** For  $\varphi_1$  defined in (4.5), we have

$$0 < \varphi_1'(t) \leqslant C \tag{4.8}$$

uniformly on  $[\phi(1), \infty)$ , for some constant C > 0.

*Proof.* For any  $t > \phi(1)$ , we have

$$\varphi_1'(t) = \int_0^\infty x e^{-tx} \Lambda(dx)$$

$$\leq \int_0^e x \Lambda(dx) + \int_e^\infty x e^{-\phi(1)x} \Lambda(dx).$$

By the property of the measure  $\Lambda$  in (1.4), we have

$$\int_0^e x \Lambda(\mathrm{d}x) := C_1,\tag{4.9}$$

where  $C_1$  is a positive constant. Moreover, there is a constant B > 0 such that  $xe^{-\phi(1)x} \leq B$  on  $[e, \infty)$ . Therefore we obtain

$$\int_{e}^{\infty} x e^{-tx} \Lambda(dx) \leqslant \int_{e}^{\infty} B\Lambda(dx) := C_2, \tag{4.10}$$

where  $C_2$  is a positive constant since (1.10). Combining (4.9) and (4.10) we obtain the result in the lemma with  $C = C_1 + C_2$ .

Proof of Theorem 2.1. In order to obtain the small value probability of W, we only need to estimate the asymptotic behavior of its Laplace transform near the infinity, which is expressed as in (4.6). Firstly, we consider  $\int_0^{\lambda} t^{-1} \phi(t) dt$ , which can be written as

$$\int_{0}^{\lambda} t^{-1} \phi(t) dt = \int_{0}^{1} t^{-1} \phi(t) dt + \int_{1}^{\lambda} t^{-1} \phi(t) dt.$$
 (4.11)

By Jensen's inequality, for any t > 0,

$$0 < \phi(t) = -\log \mathbb{E}_1 e^{-tW} \leqslant t \mathbb{E}_1 W = t.$$

Thus the first term of (4.11) is a positive constant determined by  $\phi$  and bounded by 1. For the second term of (4.11), it can be written as

$$\gamma \log \lambda - \int_{1}^{\lambda} t^{-1} (\gamma - \phi(t)) dt = \gamma \log \lambda - \int_{1}^{\infty} t^{-1} (\gamma - \phi(t)) dt + \int_{\lambda}^{\infty} t^{-1} (\gamma - \phi(t)) dt.$$
 (4.12)

From the asymptotic behavior of  $\phi$  described in (4.7), we obtain that

$$\int_{\lambda}^{\infty} t^{-1}(\gamma - \phi(t)) dt \sim \int_{\lambda}^{\infty} Ct^{-\rho - 1} dt \sim \rho^{-1} C\lambda^{-\rho} \quad \text{as } \lambda \to \infty.$$
 (4.13)

Therefore, it is easy to obtain that

$$\int_{1}^{\infty} t^{-1} (\gamma - \phi(t)) dt \tag{4.14}$$

is a finite and positive constant, determined by  $\gamma$  and  $\phi$ .

Combining (4.11)–(4.14), we obtain

$$\int_0^{\lambda} t^{-1} \phi(t) dt = \gamma \log \lambda + C' \quad \text{as } \lambda \to \infty,$$
(4.15)

with

$$C' = \int_0^1 t^{-1} \phi(t) dt - \int_1^\infty t^{-1} (\gamma - \phi(t)) dt.$$
 (4.16)

For the rest in (4.6), it is similar to check that

$$\int_{0}^{\lambda} t^{-1} \varphi_{1}(\phi(t)) dt = \varphi_{1}(\gamma) \log \lambda + \int_{0}^{1} t^{-1} \varphi_{1}(\phi(t)) dt 
- \int_{1}^{\infty} t^{-1} (\varphi_{1}(\gamma) - \varphi_{1}(\phi(t))) dt + \int_{\lambda}^{\infty} t^{-1} (\varphi_{1}(\gamma) - \varphi_{1}(\phi(t))) dt.$$
(4.17)

Firstly, we need to prove that the second term of (4.17) is a finite constant determined by  $\phi$  and  $\varphi_1$ . Note  $\varphi_1(x)$  is increasing with respect to x and  $0 < \phi(t) \le t$ , hence

$$\int_{0}^{1} t^{-1} \varphi_{1}(\phi(t)) dt \leq \int_{0}^{1} t^{-1} \varphi_{1}(t) dt = \int_{0}^{1} \int_{0}^{\infty} t^{-1} (1 - e^{-tx}) \Lambda(dx) dt.$$
 (4.18)

Then using Fubini's theorem and variable substitution xt = s, we get

$$\int_{0}^{1} t^{-1} \varphi_{1}(t) dt = \int_{0}^{\infty} \int_{0}^{x} s^{-1} (1 - e^{-s}) ds \Lambda(dx)$$

$$= \int_{0}^{1} \int_{0}^{x} s^{-1} (1 - e^{-s}) ds \Lambda(dx) + \int_{1}^{\infty} \int_{0}^{x} s^{-1} (1 - e^{-s}) ds \Lambda(dx). \tag{4.19}$$

Since  $e^{-s} \ge 1 - s$  on [0, 1], the first integral of (4.19) satisfies

$$\int_0^1 \int_0^x s^{-1} (1 - e^{-s}) ds \Lambda(dx) \leqslant \int_0^1 x \Lambda(dx) < \infty.$$

$$(4.20)$$

The last inequality follows from (1.4). For the second integral of (4.19), when x > 1,

$$\int_0^x s^{-1} (1 - e^{-s}) ds = \int_0^1 s^{-1} (1 - e^{-s}) ds + \int_1^x s^{-1} (1 - e^{-s}) ds$$
$$\leq \int_0^1 1 ds + \int_1^x s^{-1} ds = 1 + \log x.$$

Then for the second integral of (4.19) we have

$$\int_{1}^{\infty} \int_{0}^{x} s^{-1} (1 - e^{-s}) ds \Lambda(dx) \leqslant \int_{1}^{\infty} (1 + \log x) \Lambda(dx) < \infty.$$

$$(4.21)$$

For the last inequality, (1.10) is used. Combining (4.18)–(4.21), we obtain that

$$\int_0^1 t^{-1} \varphi_1(\phi(t)) dt \tag{4.22}$$

is a finite and positive constant determined by  $\phi$  and  $\varphi_1$ .

For the last term of (4.17), using  $\phi(t) \uparrow \gamma$  as  $t \uparrow \infty$ , Lemma 4.1 and the asymptotic behavior of  $\phi$  in (4.7), we obtain

$$\int_{\lambda}^{\infty} t^{-1}(\varphi_{1}(\gamma) - \varphi_{1}(\phi(t))) dt$$

$$\leq \int_{\lambda}^{\infty} C \cdot t^{-1}(\gamma - \phi(t)) dt \sim \text{constant} \cdot \lambda^{-\rho} \quad \text{as } \lambda \to \infty.$$
(4.23)

Furthermore, from (4.23) we obtain

$$\int_{1}^{\infty} t^{-1}(\varphi_1(\gamma) - \varphi_1(\phi(t))) dt$$
(4.24)

is a finite and positive constant determined by  $\gamma$ ,  $\phi$  and  $\varphi_1$ .

Combining (4.17) and (4.22)–(4.24), we obtain

$$\int_0^{\lambda} t^{-1} \varphi_1(\phi(t)) dt = \varphi_1(\gamma) \log \lambda + C'' \quad \text{as } \lambda \to \infty,$$
(4.25)

with

$$C'' = \int_0^1 t^{-1} \varphi_1(\phi(t)) dt - \int_1^\infty t^{-1} (\varphi_1(\gamma) - \varphi_1(\phi(t))) dt.$$
 (4.26)

Combining (4.15) and (4.25), together with (4.6) and (4.7), we obtain (2.1).

## 5 The subordinator case

In this section, we investigate the small value probability of W when the branching mechanism  $\psi$  is corresponding to a subordinator. Firstly we introduce the small value probability of W in this setting, which are due to [3, Section 5].

**Theorem 5.1.** Assume  $\psi$  is corresponding to a subordinator.

(i) If  $\psi$  has zero drift and finite Lévy measure  $\Pi(0,\infty) = \alpha m$ , then

$$\mathbb{P}_1(W \leqslant \varepsilon) \sim \varepsilon^{\alpha} L(1/\varepsilon) \quad as \ \varepsilon \to 0^+ \tag{5.1}$$

for some function L varying slowly at infinity. One can take L constant if and only if

$$\int_0^1 x^{-1} \Pi(\mathrm{d}x) < \infty. \tag{5.2}$$

(ii) If  $\psi$  has zero drift and infinity Lévy measure, then

$$-\log \mathbb{P}_1(W \leqslant \varepsilon) \sim L^*(1/\varepsilon) \quad as \ \varepsilon \to 0^+, \tag{5.3}$$

where  $L^*$  is a slowly varying function of the form

$$L^*(x) = \int_1^x u^{-1} L(u) du$$

with L slowly varying.

(iii) If  $\psi$  has drift a > 0, then

$$-\log \mathbb{P}_1(W \leqslant \varepsilon) \sim \varepsilon^{-a/(m-a)} L(1/\varepsilon) \quad as \ \varepsilon \to 0^+ \tag{5.4}$$

for some function L slowly varying at infinity.

**Remark 5.2.** In [3], these slowly varying functions mentioned in Theorem 5.1 are described in detail. For example, the slowly varying function L in Theorem 5.1(i) was defined in the following way. Note  $\phi$  is the Laplace exponent of W defined in (3.5). Suppose  $\Theta$  is its inverse function. Then according to Theorem 4.2 of [3],  $\Theta$  satisfies

$$\begin{split} \Theta'(s)/\Theta(s) &= -m/\psi(s), & 0 \leqslant s < \infty, \\ \Theta(s) &= s \exp\left(-\int_0^s (m/\psi(u) + 1/u) \mathrm{d}u\right), & 0 \leqslant s < \infty, \end{split}$$

from which one can deduce that  $e^{-\phi(s)}$  is  $-\alpha$ -varying at infinity, and L is defined as  $s^{\alpha}e^{-\phi(s)}$ .

In the remaining part of this paper, we assume that the immigration mechanism satisfies the special form in (2.3). Next, we will give the proof of Theorem 2.2, i.e., the small value probability of W in the subordinator setting.

Proof of Theorem 2.2. We use Tauberian type theorems in Lemma 2.3 to prove this theorem. To this purpose we need to get the asymptotic behavior of the Laplace transform of W in (4.6). These require, in each case, the limit behaviors of the following functions as  $\lambda \to \infty$ :

$$\phi(\lambda)$$
,  $\int_0^{\lambda} t^{-1} \varphi_1(\phi(t)) dt$  and  $\int_0^{\lambda} t^{-1} \phi(t) dt$ ,

where  $\varphi_1(t) = t^{\beta}, t > 0$  with  $\beta \in (0, 1)$ .

(i) In this case, the small value probability of W is  $\alpha$ -varying as expressed in (5.1). In particular when the condition (5.2) holds, one obtains by Lemma 2.3(i),

$$\mathbb{E}_1 e^{-tW} \sim C t^{-\alpha} \quad \text{as } t \to \infty, \tag{5.5}$$

for some constant C. Thus the Laplace exponent of W satisfies

$$\phi(t) = -\log \mathbb{E}_1 e^{-tW} \sim \alpha \log t \quad \text{as } t \to \infty.$$
 (5.6)

Therefore we have

$$\int_{0}^{\lambda} t^{-1} \phi(t) dt \sim 2^{-1} \alpha \cdot (\log \lambda)^{2} \quad \text{as } \lambda \to \infty.$$
 (5.7)

Meanwhile, if (5.2) does not hold, one can use Proposition 1.3.6(i) of [5], i.e., for any slowly varying function L,

$$(\log L(t))/\log t \to 0$$
 as  $t \to \infty$ .

Then according to (5.1), we still have (5.6) and thus (5.7) holds. Similarly, we can obtain

$$\int_0^{\lambda} t^{-1} \varphi_1(\phi(t)) dt \sim \alpha^{\beta} (\beta + 1)^{-1} \cdot (\log \lambda)^{\beta + 1} \quad \text{as } \lambda \to \infty.$$

Therefore, using the identity (4.6), we obtain as  $\lambda \to \infty$ ,

$$-\log \mathbb{E}_x e^{-\lambda \mathcal{W}} \sim (2m)^{-1} b\alpha \cdot (\log \lambda)^2 + \alpha^{\beta} (m(\beta+1))^{-1} \mathbb{I}_{\{b=0\}} \cdot (\log \lambda)^{\beta+1}.$$

Finally, one can obtain (2.5) by Lemma 2.3(ii) and the property of slowly varying function (2.10).

(ii) Using Lemma 2.3(ii) and (5.3), we have

$$\phi(t) \sim \widehat{L}(t)^{-1} \quad \text{as } t \to \infty,$$
 (5.8)

where  $\widehat{L}(t)$  is the conjugate slowly varying function to  $L^*$  defined in (5.3). Then

$$-\log \mathbb{E}_x e^{-\lambda W} \sim x \widehat{L}(\lambda)^{-1} + m^{-1} b \cdot \int_1^{\lambda} (t \widehat{L}(t))^{-1} dt + m^{-1} \cdot \int_1^{\lambda} t^{-1} \widehat{L}(t)^{-\beta} dt$$

$$:= x \widehat{L}(\lambda)^{-1} + m^{-1} b \cdot R_1(\lambda)^{-1} + m^{-1} \cdot R_2(\lambda)^{-1}.$$
(5.9)

Note that as  $\lambda \to \infty$ ,  $\widehat{L}(\lambda) \to 0$  and  $\widehat{L}(\lambda)/R_1(\lambda) \to \infty$ . Therefore one can get

$$-\log \mathbb{E}_x e^{-\lambda W} \sim m^{-1} b \cdot R_1(\lambda)^{-1} + \mathbb{I}_{\{b=0\}} (x \widehat{L}(\lambda)^{-1} + m^{-1} \cdot R_2(\lambda)^{-1})$$
 as  $\lambda \to \infty$ ,

which implies (2.6) by Lemma 2.3(ii).

(iii) & (iv) In this case, using the small value probability of W expressed as in (5.4) and Lemma 2.3(ii), one has

$$\phi(\lambda) \sim \lambda^{a/m} L_1(\lambda)^{a/m-1} \quad \text{as } \lambda \to \infty.$$
 (5.10)

Here  $L_1(\lambda)$  is a slowly varying function at infinity and its conjugate varying function satisfies

$$L_1^*(\lambda) \sim m(m-a)^{-1} (m/a)^{a/(m-a)} \cdot L(\lambda^{1-a/m})$$
 (5.11)

with L defined in Theorem 5.1(iii). Then for any  $\varepsilon > 0$ , there exists  $\lambda_{\varepsilon} > 0$  such that

$$1 - \varepsilon \leqslant \phi(t) \cdot t^{-a/m} L_1(t)^{1-a/m} \leqslant 1 + \varepsilon, \quad t > \lambda_{\varepsilon}. \tag{5.12}$$

Furthermore, using variable substitution  $t = \lambda s$ , one has

$$\int_{\lambda_{\varepsilon}}^{\lambda} t^{a/m-1} L_1(t)^{a/m-1} dt = \lambda^{a/m} \int_{\lambda_{\varepsilon}/\lambda}^{1} s^{a/m-1} L_1(\lambda s)^{a/m-1} ds$$
$$= \lambda^{a/m} (L_1(\lambda))^{a/m-1} \int_{\lambda_{\varepsilon}/\lambda}^{1} s^{a/m-1} (L_1(\lambda s)/L_1(\lambda))^{a/m-1} ds.$$

Recall that in this case a > 0 is the drift of  $\psi$  and 0 < a < m. Using Potter's theorem (Theorem 1.5.6 of [5]), there is a constant  $\lambda_{\varepsilon} > 0$  such that  $L_1(\lambda s)/L_1(\lambda) \leq 2s^{(1-a/m)/2}$  for all  $\lambda > \lambda_{\varepsilon}$ . Using the dominated convergence theorem, one can obtain

$$\int_{\lambda_{\varepsilon}/\lambda}^{1} s^{a/m-1} \left( L_1(\lambda s) / L_1(\lambda) \right)^{a/m-1} ds \to \int_{0}^{1} s^{a/m-1} ds = m/a \quad \text{as } \lambda \to \infty, \tag{5.13}$$

since  $L_1(\lambda s)/L_1(\lambda) \to 1$ . Note that

$$\int_0^{\lambda_{\varepsilon}} t^{-1} \phi(t) dt \cdot [\lambda^{a/m} (L_1(\lambda))^{a/m-1}]^{-1} \to 0 \quad \text{as } \lambda \to \infty.$$

Together with (5.12)–(5.13), we obtain that

$$\int_0^{\lambda} t^{-1} \phi(t) dt \sim a^{-1} m \cdot \lambda^{a/m} (L_1(\lambda))^{a/m-1} \quad \text{as } \lambda \to \infty.$$
 (5.14)

Using similar arguments, we can also obtain

$$\int_0^{\lambda} t^{-1} (\phi(t))^{\beta} dt \sim (a\beta)^{-1} m \cdot \lambda^{a\beta/m} L_1(\lambda)^{(a/m-1)\beta} \quad \text{as } \lambda \to \infty.$$
 (5.15)

Combining the Laplace transform of W in (4.6), the asymptotic behaviors in (5.10), (5.14) and (5.15), we obtain as  $\lambda \to \infty$ ,

$$-\log \mathbb{E}_x e^{-\lambda W} \sim (x + b/a) \cdot \lambda^{a/m} L_1(\lambda)^{a/m-1}$$
 when  $x > 0$ ,

and

$$-\log \mathbb{E}_0 e^{-\lambda W} \sim a^{-1} b \cdot \lambda^{a/m} L_1(\lambda)^{a/m-1} + (a\beta)^{-1} \mathbb{I}_{\{b=0\}} \cdot \lambda^{a\beta/m} L_1(\lambda)^{(a/m-1)\beta}.$$

Thus using Lemma 2.3(ii) and the properties of slowly varying functions (5.11) and (2.9), we obtain (2.7) and (2.8) respectively.  $\Box$ 

**Acknowledgements** This research was supported by National Science Foundation of US (Grant Nos. DMS-0805929 and DMS-1106938), National Natural Science Foundation of China (Grant Nos. 10928103, 10971003 and 11128101), Specialized Research Fund for the Doctoral Program of Higher Education of China and the Fundamental Research Funds for the Central Universities.

#### References

- 1 Berestycki J, Kyprianou A E, Murillo-Salas A. The prolific backbone for supercritical superprocesses. Stochastic Process Appl, 2011, 121: 1315–1331
- 2 Bertoin J, Fontbona J, Martinez S. On prolific individuals in a supercritical continuous state branching process. J Appl Probab, 2008, 45: 714–726
- 3 Bingham N H. Continuous branching processes and spectral positivity. Stochastic Process Appl, 1976, 4: 217–242
- 4 Bingham N H. On the limit of a supercritical branching process. J Appl Probab, 1988, 25: 215–228
- 5 Bingham N H, Goldie C M, Teugels J L. Regular Variation. Cambridge: Cambridge Univ Press, 1987
- 6 Bingham N H, Teugels J L. Duality for regularly varying functions. Quart J Math Oxford, 1975, 26: 333–353
- 7 Biggins J D, Bingham N H. Large deviation in the supercritical branching process. Adv Appl Prob, 1993, 25: 757–772
- 8 Biggins J D, Bingham N H. Near-constancy of phenomena in branching processes. Math Proc Camb Phil Soc, 1991, 110: 545–558
- 9 Chu W J, Li W V, Ren Y-X. Small value probabilities for supercritical branching processes with immigration. Bernoulli, in press
- 10 Dubuc S, Problémes relatifs àlitération de fonctions suggérés par les processus en cascade. Ann Inst Fourier (Grenoble), 1971, 21: 171–251
- 11 Duquesne T, Winkel M. Growth of Lévy trees. Probab Theory Relat Fields, 2007, 139: 313–371
- 12 Fleischmann K, Wachtel V. Lower deviation probabilities for supercritical Galton-Watson processes. Ann Inst H Poincaré Probab Statist, 2007, 43: 233–255
- 13 Fleischmann K, Wachtel V. On the left tail asymtotics for the limit law of supercritical Galton-Watson processes in the Böttcher case. Ann Inst H Poincaré Probab Statist, 2009, 45: 201–225
- 14 Grey D R. Asymptotic Behaviour of continuous time, continuous state-space branching processes. J Appl Prob, 1974, 11: 669–677
- 15 Harris T E. Branching processes. Ann Math Statist, 1948, 19: 474-494
- 16 Karlin S, McGregor J. Embeddability of discrete time simple branching processes into continuous time branching processes. Trans Amer Math Soc, 1968, 132: 115–136
- 17 Karlin S, McGregor J. Embedding iterates of analytic functions with two fixed points into continuous groups. Trans Amer Math Soc, 1968, 132: 137–145
- 18 Kyprianou A E. Introductory Lectures on Fluctuations of Lévy Processes with Applications. New York: Springer-Verlag, 2006
- 19 Pinsky M A. Limit theorems for continuous state branching process with immigration. Bull Amer Math Soc, 1972, 78: 242–244